1. o3 H7]9 aABC ot H2 @& 2ow?




Zrol /A =90° Q1 AZHAZHE ABC 9] ZAIA A o4 H
FA9 S D 2tal & o, AABC 9] Hol=?

>

D 36 @ 37 ® 38 @ 39 ® 40



50°




GRGRG) ® 0,066

® 0O 6

ORON®)

@ 0,6,06,6



th& 1804 BC ¢ dol=?

@ 13cm @ 1l4cm ® 15cm @ 16cm ® 17cm



6. TS 133 go] nABCD °J4 /BCA = /ACD, /ADC = /BAC =
90° & o, x o] L& FoFH? (F, BC=9,CD =4, AC =x)




7. e Addd SolA SAS ®Hedl =E e I AR A7

—__G
A
\30111 FH \6cm/
-GCm—
O o-0 @ ©-© ®e@®-0

@ ©-0© ® -0



ol
olp

(o

ol o

Ao

[aat)
o) ol

@ 6 :
® SAS

® A
@ AACB




9. thg 2elA ADY ol Tohu?

@ 4cm @ 5cm @ 6cm @ T7cm ® 8cm



10. ©& 18L& AD//BC, AB//DE ©|t}. AB = 4cm, AC = 6
AE = 2cm , BC = 8cm ¥ W], AADE 2] Ed|9] Zo]=9

@ 4 @ 5 ® 6 @ 9 ® 12



11.

A2k ABCDE BF & 3
= Aoz sto] J c7FAD Y
O HE EE HF2 Ao
t}t. AB = 16cm, ED = 8cm,
DF =6cm ¥ @, ABCF 9 4
o|& Fotofzt.

i}

B o




12, o5 2™ &2 27420 ABC oflA x +y ] #h2 7+5HH?




13. o2 I"e|A DE®°] Zolg st

@ 8 @ 12 ® 16



14. o=
T 2™olA x 9 327




15. o2 139 AABC 2] Al 9] Zo]= AB = 16, BC = 14, CA = 12
o|t}. /DAC = /DBA ¢ o, DC ¢] Ao]& Fs}ofzt.

D



